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Problem 1

Use only Slope Deflection Method.
Determine the reactions at supports A and D, for the frame in Fig. 1.
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Problem 2

Use only Moment Distribution Method with modified stiffnesses wherever possible.

Draw the bending moment diagram for the frame in Fig. 2. Data: k =100 kN/m and El :g kN.m?.
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Problem 3

Use only Stiffness Matrix Method.
Determine nodal displacements and member forces for the 6-member truss shown in Fig. 3. Assume
the truss is an equal angle truss, i.e., angle between adjacent members is 60°.
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